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1.Which type of topology is shown in the exhibit.
A. Spine-and-leaf topology

B. Tree topology

C. ERP topology

D. Hub-and-spoke topology

Answer: A

2.AppFormix has been deployed in your data center using the Juniper Telemetry interface (JTI) native
sensors. However, the underlay devices have not yet been set up to work with the JTI native sensors.
Which action is required for the JTI native sensors to work properly?

A. Enable the SSH on the underlay devices

B. Install the AppFormix network agent on the underlay devices

C. Enable the GPB messaging on the underlay devices

D. Enable the NETCONF over SSH on the underlay devices

Answer: C

3.Which statement is correct about an overlay network?

A. An overlay network requires an OSPF area

B. An overlay network requires The CLOS architectures

C. An overlay network Uses tunneling technologies

D. An overlay network Must have switches interconnected in space-leaf implementation
Answer: C

4 What are two protocols used by the NorthStar controller to discover the network topology? (Choose
two).

A. SNMP

B. BGP-LS

C. NETCONF

D. OSPF-TE

Answer: B, D

5.You are deploying a vMX device in your network.

Which two virtualized components are required in this scenario? (choose two)
A. Virtual chassis fabric

B. Virtual forwarding plane

C. Virtual chassis port

D. Virtual control plane

Answer: B, D
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